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(+2)-(+8)

(-6)+(-4)

(-4 X (-7)
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(-9 X (-2)
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(-2)-(+7)

(="7D+(+4)

(-8) X (-4)
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(-6)+(+3)
(+5) X (-3)

(+8)-(-9)

(+7)-(+8)

(+3)+(-3)



@

3

4)

®)

©)

N

®

@

(49)

(50)

(52)

(63)

(64)

(65)

(566)

YD)

(68)

(69

(60)

1)

(62)

(63)

(64)

wRlE 3 5%

a9 "

(-9 X (-2)
= +18

(+7) X (-7)
= -49

(-2)-(+7)
= -9

(-T)+(+4)
= -3

(-8) X (-4)
= +32

(-9)+(+3)
= -6

( 21) = (+3)
= -7

(+6)-(+4)
=+

(-7) X (-6)
= +42
(-12)=(-3)
= +4

(-5) X (-4)
= +20

(-6)+(+3)
= -3

(+5) X (-3)
= -15

(+8)-(-9)
= +17

(+7)(+8)
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63 =7 1P 2D =(+3) B (-3)-(+8)
= +9 = +9 = -1
(-2)-(+3) 18 (~9)-(+2) GO (228) = (+7)
= -5 = -1 = -4
(-2)+(-5) U9 (130) = (+9)  ©9 (+4)+(+9)
= -7 = +4 = +13
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= +6 = +15 = -4
(-6)+(~2) @D (26) = (+2) GD(—4)+(-5)
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= 4 = +13 - 48
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S - -10 = 45
(+3)-(-7) @O (C)+(+T) U (+63) = (-9)
= +10 = 45 = -7
(+2)-(+5) @ (+5)+(+4) D (+8)+(+8)

- -3 = 49 = +16
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= +12 - 48 = 4
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= -2 - -8 = -5
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(-8)-(+2) G (+2) X (+7) UD - (+04) = (-6)
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(+2)-(+8) G2 (~6)+(-4) WO hHx (-7
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